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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', ’'setVI VN ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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XX6

E&PH (7.28) R

FfiE) | FEBIRTHE (FD) | EBE (BEFH/HK) 5 EFE

07:50 29 10.0 5 FiEA@07:50 (K AIERSE)
08:25 29 10.0 ES ¥iHAe08:25 (KRF{ERLEE)
09:00 29 10.0 ES FiH@09:00 (KRFEREE)
09:35 29 10.0 ES FiHAe09:35 (RFFERLER)
10:10 29 10.0 ES FiEA@10:10 (KR BFERSE)
10:55 29 10.0 E ¥HA@10:55 (KRFEREE)
11:40 29 10.0 S FnHfe11:40 (REERES)
12:15 29 10.0 ;] FnHfe12:15 (REERE)
12:50 29 10.0 1] FiHfe12:50 (RRERSE)
13:25 29 10.0 i FH@13:25 (RFEREE)
14:15 29 10.0 FA fnfe14:15 (REERES)
15:05 29 10.0 A ¥HAe15:05 (KREEREE)
16:10 29 10.0 ] FHEi@16:10 (RFEREE)
2it(377.0 (13%) 130.0 3EHKEC: 2500, PH: 6.3
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XX6

BTiE) | EBIATK (FD) | EBE (EH/HK) | XK iR
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2i3t]1539.0 (97%) 90.0 323 KEC: 2500, PH: 6.3
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unusual large postFgEt from yesterday (51), set to 30.0 ml.
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BYiE) | GEBERTIC (B)) | EBE (BEAH/#K) | XS ERE
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BTiE) | EBIATK (FD) | EBE (EH/HK) | XK iR

07:50 171 20.0 i BR1%@07:50 (KRFIERLES)
08:40 171 20.0 i {’R1%@08:40 (kAfEREE)
09:30 171 20.0 i B31%@09:30 (K BIEREEE)
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2i3t]1539.0 (97%) 180.0 323 KEC: 2500, PH: 6.3

ERERTIREE TR K (0.31 vs 0.25)), AIHER S IREESEERK
LOREBRTC R IRMERIE I (171.0 vs 61.0))
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